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See the general notation presented in TP 3.5

See the specific notation and figure presented in TP 3.7

Ball radius Pocket-specific parameters

Ri=1.125 p: mouth width o wall angle R, ,.: hole radius b:shelf depth to hole

p = 4.58125 ;= 7-deg Ryole =275 b= 1.125

Size of left portion of pocket target area assuming near miss of near point

p
Sleft_point(P>1>9) = E-cos(e) —r

1 p . \

D(p,o,b,0) ;= ———— | —-cos(a) — b-sin(a) — R
® ) sin(6 + 5-a) (2 () () )

1 p . . \\
A(p,a,b,0) ;= ————— [ —=-cos(0 + 4-a) + b-sin(6 + 4-a) — D(p,,b,0)-sin(2-0 + 10-a) + R-cos(0 + 3-«
Alp ) sin(e+3-a)( 5 ( ) ( ) — D(p )-sin( ) ( ))

1
B(p,a,b,r,0) .= ————— (A(p,,b,0)-sin(0 + 3-a) — r-cos(2-0 + 2-0) + R-cos(6 + 3-a))
sin(2-0 + 2-o)

N1(8) := 90-deg — 6 Yo(,0) = v1(0) - 2-a
V3(@,0) == =Yy (@, 0) + 2-a V4(,0) = v3(,0) + 2-a

Maximum angle where ball can still be pocketed after near miss of near point
poly(p,o,b,r,0) := p-cos(ot) — R — B(p,a,b,r,0)-sin(0 + o) — r-cos(0 + o)
0 := 45-deg initial guess for root function

) 9bara e) = rOOt(pOly(p,OL,b,I', e)ae)

maximum(P> &



Size of left portion of pocket target area assuming inner wall contact at point

p
Sleft_point_wall(p’o" 0) = E-cos(e) — R-cos(6 — o)

Critical angle where inner wall contact barely results in pocketing of ball
Hi=45-deg
Teritical(P> @ 0) = (p-cos(8) — R-cos(6 + av))

Ocritical(P» 040, 0) 1= ~r00t{poly(p, . b erifica (P, 6). ). 0)

Size of left portion of pocket target area assuming inner wall contact
r:=R
rleft_wall(p , QL b > 9) = rOOt(P01Y(p » QL b T, _e) > I')

N
Sleft_wall(p QL b 4 9) . 2 ~COS(9) + rleft_wall(p , QL b > e)

0 =0

max = Omaximum(P>2b,R,6) 0, ax = 59-841 deg

0 = Opifical(P+ b, 0) Teritical(P 0 —6g) = 2231 0, = —52.226 deg

Sleft(e) = Sleft_point(paRa 0) if 6>«
Sleft_point wall(P-@0) if 8. <0 <a

Sleft wall(P>@,b,0) otherwise

Sright(®) = S1ef(=0)

369) 1= 81ef(0) + Spight(9)

Stight(9) — Sjeft(®)
2

offset(0) =

1
(A6,6) = ——.
WA = e Y



s(0)

= —45-deg,—44-deg .. 45-deg
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m(1.5-deg, 0)

m(2-deg,8) 180
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